

PROJECT NAME:

FY 2022 State Aid - Reconstruction of Winchester Avenue

PROJECT NUMBER:

0116U175 CLIENT: Margate City DATE: August 24, 2023 ENGINEER'S ESTIMATE South State, Inc. Asphalt Paving Systems, Inc. Think Pavers Hardscaping, LLC P.O. Box 68 P.O. Box 530 125 Kings Highway Bridgeton, NJ 08302 Hammonton, NJ 08037 Mt. Royal, NJ 08061 856-451-5300 609-561-4161 856-832-4680 ((BB, CS, SS, etc.)) ((BB, CS, SS, etc.)) ((BB, CS, SS, etc.))

BASE BID

BASE	BASE BID		· · · · · · · · · · · · · · · · · · ·								
		QUA	NTITY	UNIT		UNIT		UNIT		UNIT	
#	DESCRIPTION	& t	JNITS	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL
					3						
1	Breakaway Barricade	25	UNIT	\$1.00	\$25.00	\$1.00	\$25.00	\$1.00	\$25.00	\$140.00	\$3,500.00
2	Drum	50	UNIT	\$1.00	\$50.00	\$1.00	\$50.00	\$1.00	\$50.00	\$75.00	\$3,750.00
3	Traffic Cone	50	UNIT	\$1.00	\$50.00	\$1.00	\$50.00	\$1.00	\$50.00	\$100.00	\$5,000.00
4	Construction Signs	400	S.F.	\$14.00	\$5,600.00	\$15.00	\$6,000.00	\$1.00	\$400.00	\$5.00	\$2,000.00
5	Fuel Price Adjustment	2400	DOLLAR	\$1.00	\$2,400.00	\$1.00	\$2,400.00	\$1.00	\$2,400.00	\$1.00	\$2,400.00
6	Asphalt Price Adjustment	100	DOLLAR	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00
7	Clearing Site	1	L.S.	\$135,760.00	\$135,760.00	\$168,000.00	\$168,000.00	\$51,000.00	\$51,000.00	\$239,999.34	\$239,999.34
8	Excavation, Test Pit (If & Where Directed)	50	UN	\$1.00	\$50.00	\$1.00	\$50.00	\$1.00	\$50.00	\$0.01	\$0.50
9	Excavation, Unclassified	325	C.Y	\$55.00	\$17,875.00	\$55.00	\$17,875.00	\$80.00	\$26,000.00	\$10.00	\$3,250.00
10	Excavation, Subsurface Structures, Additional Depth (If & Where Directed)	25	C.Y.	\$15.00	\$375.00	\$1.00	\$25.00	\$1.00	\$25.00	\$0.01	\$0.25
11	Additional Broken Stone Trench Stabilization (If & Where Directed)	25	C.Y.	\$15.00	\$375.00	\$1.00	\$25.00	\$1.00	\$25.00	\$0.01	\$0.25
12	Select Backfill (If & Where Directed)	500	C.Y.	\$15.00	\$7,500.00	\$25.00	\$12,500.00	\$1.00	\$500.00	\$0.01	\$5.00
13	Dense Graded Aggregate Base Course, 4" Thick	1375	S.Y.	\$10.00	\$13,750.00	\$10.00	\$13,750.00	\$18.00	\$24,750.00	\$7.00	\$9,625.00
14	Tack Coat	215	GALLON	\$1.00	\$215.00	\$0.01	\$2.15	\$0.01	\$2.15	\$0.01	\$2.15
15	Prime Coat	665	GALLON	\$1.00	\$665.00	\$0.01	\$6.65	\$0.01	\$6.65	\$0.01	\$6.65
16	Hot Mix Asphalt 9.5M64 Surface Course	215	TON	\$130.00	\$27,950.00	\$130.00	\$27,950.00	\$140.00	\$30,100.00	\$90.00	\$19,350.00
17	Hot Mix Asphalt 12.5M64 Base Course	200	TON	\$120.00	\$24,000.00	\$120.00	\$24,000.00	\$130.00	\$26,000.00	\$95.00	\$19,000.00



PROJECT NAME:

FY 2022 State Aid - Reconstruction of Winchester Avenue

PROJECT NUMBER:

0116U175
CLIENT:
Margate City
DATE:
August 24, 2023

ENGINEER'S ESTIMATE	South State, Inc.	Asphalt Paving Systems, Inc.	Think Pavers Hardscaping, LLC
1	P.O. Box 68	P.O. Box 530	125 Kings Highway
	Bridgeton, NJ 08302	Hammonton, NJ 08037	Mt. Royal, NJ 08061
	856-451-5300	609-561-4161	856-832-4680
	((BB, CS, SS, etc.))	((BB, CS, SS, etc.))	((BB, CS, SS, etc.))

BASE BID

BASE	ASE BID										
	QUANTITY		UNIT		UNIT		UNIT		UNIT		
#	DESCRIPTION	ى ئ	INITS	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL
18	8" Ductile Iron Culvert Pipe (If & Where	30	L.F.	\$215.00	\$6,450.00	\$200.00	\$6,000.00	\$125.00	\$3,750.00	\$0.01	\$0.30
1	Directed)				0.00		3. 2			600 200000	
19	10" Ductile Iron Culvert Pipe	70	L.F.	\$250.00	\$17,500.00	\$250.00	\$17,500.00	\$200.00	\$14,000.00	\$100.00	\$7,000.00
20	12" Ductile Iron Culvert Pipe	45	L.F.	\$290.00	\$13,050.00	\$250.00	\$11,250.00	\$225.00	\$10,125.00	\$100.00	\$4,500.00
21	24" Ductile Iron Culvert Pipe	100	L.F.	\$360.00	\$36,000.00	\$325.00	\$32,500.00	\$350.00	\$35,000.00	\$150.00	\$15,000.00
22	30" Ductile Iron Culvert Pipe	175	L.F.	\$465.00	\$81,375.00	\$425.00	\$74,375.00	\$550.00	\$96,250.00	\$200.00	\$35,000.00
23	Inlet, Type C	8	UN	\$6,500.00	\$52,000.00	\$7,000.00	\$56,000.00	\$7,200.00	\$57,600.00	\$10,000.00	\$80,000.00
24	Manhole, 4' Diameter	5	UN	\$6,300.00	\$31,500.00	\$7,000.00	\$35,000.00	\$9,400.00	\$47,000.00	\$20,000.00	\$100,000.00
25	Concrete Sidewalk, 4" Thick	225	S.Y.	\$90.00	\$20,250.00	\$90.00	\$20,250.00	\$100.00	\$22,500.00	\$95.00	\$21,375.00
26	Concrete Driveway, 6" Thick	30	S.Y.	\$90.00	\$2,700.00	\$90.00	\$2,700.00	\$120.00	\$3,600.00	\$100.00	\$3,000.00
27	Reset Brick Sidewalk	4	S.Y.	\$300.00	\$1,200.00	\$300.00	\$1,200.00	\$600.00	\$2,400.00	\$39.00	\$156.00
28	Detectable Warning Surface	8	S.Y.	\$400.00	\$3,200.00	\$400.00	\$3,200.00	\$1,500.00	\$12,000.00	\$1,000.00	\$8,000.00
29	Concrete Vertical Curb	715	L.F.	\$28.00	\$20,020.00	\$30.00	\$21,450.00	\$40.00	\$28,600.00	\$30.00	\$21,450.00
30	Concrete Gutter, 8" Thick	715	L.F.	\$40.00	\$28,600.00	\$40.00	\$28,600.00	\$38.00	\$27,170.00	\$10.00	\$7,150.00
31	Concrete Header Curb	110	L.F.	\$28.00	\$3,080.00	\$30.00	\$3,300.00	\$38.00	\$4,180.00	\$15.00	\$1,650.00
32	Traffic Markings Lines, 8"	90	L.F.	\$8.00	\$720.00	\$6.00	\$540.00	\$10.00	\$900.00	\$5.75	\$517.50
33	Traffic Markings, Lines, 24"	50	L.F.	\$24.00	\$1,200.00	\$16.00	\$800.00	\$30.00	\$1,500.00	\$17.00	\$850.00
34	8" - C900 Polyvinyl Chloride Water Main	130	L.F.	\$125.00	\$16,250.00	\$120.00	\$15,600.00	\$165.00	\$21,450.00	\$100.00	\$13,000.00
35	14" - C900 Polyvinyl Chloride Water	450	L.F.	\$235.00	\$105,750.00	\$200.00	\$90,000.00	\$300.00	\$135,000.00	\$110.00	\$49,500.00
	Main			W		9.		0			
36	8" - 11 1/4" Ductile Iron Mechanical Joint	4	UN	\$400.00	\$1,600.00	\$400.00	\$1,600.00	\$100.00	\$400.00	\$300.00	\$1,200.00
	Fitting (If & Where Directed)										
37	8" - 22 1/2º Ductile Iron Mechanical Joint Fitting (If & Where Directed)	4	UN	\$400.00	\$1,600.00	\$400.00	\$1,600.00	\$100.00	\$400.00	\$300.00	\$1,200.00
	8" - 45° Ductile Iron Mechanical Joint										
38	Fitting	10	UN	\$400.00	\$4,000.00	\$400.00	\$4,000.00	\$100.00	\$1,000.00	\$300.00	\$3,000.00
20	14" - 11 1/4" Ductile Iron Mechanical	4	UN	\$1.500.00	\$6,000.00	\$1,500.00	\$6,000.00	\$100.00	\$400.00	\$400.00	\$1,600,00
39	Joint Fitting (If & Where Directed)	4	UN	\$1,500.00	\$6,000.00	\$1,500.00	\$6,000.00	\$100.00	\$400.00	\$400.00	\$1,600.00



BASE BID TOTAL; AMOUNT WRITTEN:

Edward D. Dennis, Jr., P.E. New Jersey License No. 47002

BID TABULATION

PROJECT NAME: FY 2022 State Aid - Reconstruction of Winchester Avenue PROJECT NUMBER: 0116U175 CLIENT: Margate City DATE: August 24, 2023			ENGINEER'S ESTIMATE South State, Inc. P.O. Box 68 Bridgeton, NJ 08302 856-451-5300 ((BB, CS, SS, etc.))			Hammonto 609-56	Box 530 n, NJ 08037	Think Pavers Hardscaping, LLC 125 Kings Highway Mt. Royal, NJ 08061 856-832-4680 ((BB, CS, SS, etc.))			
BASE	BID	LOUA	NTITY	UNIT		UNIT		UNIT		UNIT	
#	DESCRIPTION		JNITS	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL
40	14" - 22 1/2º Ductile Iron Mechanical	4	UN	\$1,500.00	\$6,000.00	\$1,500.00	\$6,000,00	\$100.00	\$400.00	\$400.00	\$1,600.00
10	Joint Fitting (If & Where Directed)			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	\$0,000.00	\$1,500.00	\$0,000.00	\$100.00	\$ 100.00	Ψ100.00	\$1,000.00
41	14" - 45° Ductile Iron Mechanical Joint Fitting	9	UN	\$1,500.00	\$13,500.00	\$1,500.00	\$13,500.00	\$100.00	\$900.00	\$400.00	\$3,600.00
42	8" Gate Valve and Valve Box	5	UN	\$2,700.00	\$13,500.00	\$2,600.00	\$13,000.00	\$5,500.00	\$27,500.00	\$1,000.00	\$5,000.00
43	14" Gate Valve and Valve Box	2	UN	\$13,200.00	\$26,400.00	\$12,000.00	\$24,000.00	\$20,000.00	\$40,000.00	\$0.01	\$0.02
44	8" X 14" Ductile Iron Mechnaical Joint Cross	2	UN	\$2,300.00	\$4,600.00	\$2,300.00	\$4,600.00	\$5,000.00	\$10,000.00	\$200.00	\$400.00
45	4" Line Stop	1	UN	\$1,000.00	\$1,000.00	\$100.00	\$100.00	\$100.00	\$100.00	\$0.01	\$0.01
46	6" Line Stop	1	UN	\$4,800.00	\$4,800.00	\$100.00	\$100.00	\$100.00	\$100.00	\$0.01	\$0.01
47	8" Line Stop	1	UN	\$9,800.00	\$9,800.00	\$100.00	\$100.00	\$100.00	\$100.00	\$0.01	\$0.01
48	14" Line Stop	1	UN	\$14,000.00	\$14,000.00	\$100.00	\$100.00	\$100.00	\$100.00	\$0.01	\$0.01
49	14" Insertion Valve	2	UN	\$3,700.00	\$7,400.00	\$100.00	\$200.00	\$20,000.00	\$40,000.00	\$40,000.00	\$80,000.00
50	Connect to Existing Water Main	4	UN	\$8,000.00	\$32,000.00	\$7,000.00	\$28,000.00	\$7,500.00	\$30,000.00	\$15,000.00	\$60,000.00
51	As-Built Plans and GIS Data	1	L.S.	\$700.00	\$700.00	\$1,000.00	\$1,000.00	\$571.20	\$571.20	\$10,000.00	\$10,000.00
52	Milling 2" Depth	160	S.Y.	\$15.00	\$2,400.00	\$16.00	\$2,560.00	\$40.00	\$6,400.00	\$10.00	\$1,600.00
53	Traffic Markings Symbols	18	S.F.	\$24.00	\$432.00	\$25.00	\$450.00	\$40.00	\$720.00	\$30.00	\$540.00
54	12" Reinforced Concrete Pipe	0	L.F.	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
55	15" Reinforced Concrete Pipe	0	L.F.	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
56	24" Reinforced Concrete Pipe	0	L.F.	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
BASE BID TOTAL; EXTENSION OF UNIT PRICES:					\$827,317.00		\$799,983.80		\$843,600.00		\$845,878.00

\$799,983.80

\$843,600.00

\$845,897.00



PROJECT NAME:

FY 2022 State Aid - Reconstruction of Winchester Avenue

PROJECT NUMBER:

O116U175
CLIENT:
Margate City
DATE:
August 24, 2023

ENGINEER'S ESTIMATE	South State, Inc.	Asphalt Paving Systems, Inc.	Think Pavers Hardscaping, LLC
	P.O. Box 68	P.O. Box 530	125 Kings Highway
	Bridgeton, NJ 08302	Hammonton, NJ 08037	Mt. Royal, NJ 08061
	856-451-5300	609-561-4161	856-832-4680
	((BB, CS, SS, etc.))	((BB, CS, SS, etc.))	((BB, CS, SS, etc.))

ALTERNATE BID

#	DESCRIPTION		NTITY JNITS	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
1	Breakaway Barricade	25	UNIT	\$1.00	\$25.00	\$1.00	\$25.00	\$1.00	\$25.00	\$140.00	\$3,500.00
2	Drum	50	UNIT	\$1.00	\$50.00	\$1.00	\$50.00	\$1.00	\$50.00	\$75.00	\$3,750.00
3	Traffic Cone	50	UNIT	\$1.00	\$50.00	\$1.00	\$50.00	\$1.00	\$50.00	\$100.00	\$5,000.00
4	Construction Signs	400	S.F.	\$14.00	\$5,600.00	\$15.00	\$6,000.00	\$1.00	\$400.00	\$5.00	\$2,000.00
5	Fuel Price Adjustment	2400	DOLLAR	\$1.00	\$2,400.00	\$1.00	\$2,400.00	\$1.00	\$2,400.00	\$1.00	\$2,400.00
6	Asphalt Price Adjustment	100	DOLLAR	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00	\$1.00	\$100.00
7	Clearing Site	1	L.S.	\$135,760.00	\$135,760.00	\$150,000.00	\$150,000.00	\$49,500.00	\$49,500.00	\$220,000.34	\$220,000.34
8	Excavation, Test Pit (If & Where Directed)	50	UN	\$1.00	\$50.00	\$1.00	\$50.00	\$1.00	\$50.00	\$0.01	\$0.50
9	Excavation, Unclassified	325	C.Y	\$55.00	\$17,875.00	\$55.00	\$17,875.00	\$80.00	\$26,000.00	\$10.00	\$3,250.00
10	Excavation, Subsurface Structures, Additional Depth (If & Where Directed)	25	C.Y.	\$15.00	\$375.00	\$1.00	\$25.00	\$1.00	\$25.00	\$0.01	\$0.25
11	Additional Broken Stone Trench Stabilization (If & Where Directed)	25	C.Y.	\$15.00	\$375.00	\$1.00	\$25.00	\$1.00	\$25.00	\$0.01	\$0.25
12	Select Backfill (If & Where Directed)	500	C.Y.	\$15.00	\$7,500.00	\$25.00	\$12,500.00	\$1.00	\$500.00	\$0.01	\$5.00
13	Dense Graded Aggregate Base Course, 4" Thick	1375	S.Y.	\$10.00	\$13,750.00	\$10.00	\$13,750.00	\$18.00	\$24,750.00	\$7.00	\$9,625.00
14	Tack Coat	215	GALLON	\$1.00	\$215.00	\$0.01	\$2.15	\$0.01	\$2.15	\$0.01	\$2.15
15	Prime Coat	665	GALLON	\$1.00	\$665.00	\$0.01	\$6.65	\$0.01	\$6.65	\$0.01	\$6.65
16	Hot Mix Asphalt 9.5M64 Surface Course	215	TON	\$130.00	\$27,950.00	\$130.00	\$27,950.00	\$140.00	\$30,100.00	\$90.00	\$19,350.00
17	Hot Mix Asphalt 12.5M64 Base Course	200	TON	\$120.00	\$24,000.00	\$120.00	\$24,000.00	\$130.00	\$26,000.00	\$95.00	\$19,000.00



PROJECT NAME:

FY 2022 State Aid - Reconstruction of Winchester Avenue

PROJECT NUMBER:

OlifoU175
CLIENT:
Margate City
DATE:
August 24, 2023

ENGINEER'S ESTIMATE	South State, Inc.	Asphalt Paving Systems, Inc.	Think Pavers Hardscaping, LLC
	P.O. Box 68	P.O. Box 530	125 Kings Highway
	Bridgeton, NJ 08302	Hammonton, NJ 08037	Mt. Royal, NJ 08061
	856-451-5300	609-561-4161	856-832-4680
	((BB, CS, SS, etc.))	((BB, CS, SS, etc.))	((BB, CS, SS, etc.))

ALTERNATE BID

		QUANTITY		UNIT		UNIT		UNIT		UNIT	
#	DESCRIPTION	& L	INITS	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL
18	8" Ductile Iron Culvert Pipe (If & Where Directed)	30	L.F.	\$215.00	\$6,450.00	\$200.00	\$6,000.00	\$125.00	\$3,750.00	\$0.01	\$0.30
19	10" Ductile Iron Culvert Pipe	70	L.F.	\$250.00	\$17,500.00	\$250.00	\$17,500.00	\$200.00	\$14,000.00	\$100.00	\$7,000.00
20	12" Ductile Iron Culvert Pipe	45	L.F.	\$290.00	\$13,050.00	\$250.00	\$11,250.00	\$225.00	\$10,125.00	\$100.00	\$4,500.00
21	24" Ductile Iron Culvert Pipe	0	L.F.	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
22	30" Ductile Iron Culvert Pipe	0	L.F.	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00	\$0.00
23	Inlet, Type C	8	UN	\$6,500.00	\$52,000.00	\$7,000.00	\$56,000.00	\$7,200.00	\$57,600.00	\$10,000.00	\$80,000.00
24	Manhole, 4' Diameter	5	UN	\$6,300.00	\$31,500.00	\$7,000.00	\$35,000.00	\$9,400.00	\$47,000.00	\$20,000.00	\$100,000.00
25	Concrete Sidewalk, 4" Thick	225	S.Y.	\$90.00	\$20,250.00	\$90.00	\$20,250.00	\$100.00	\$22,500.00	\$95.00	\$21,375.00
26	Concrete Driveway, 6" Thick	30	S.Y.	\$90.00	\$2,700.00	\$90.00	\$2,700.00	\$120.00	\$3,600.00	\$100.00	\$3,000.00
27	Reset Brick Sidewalk	4	S.Y.	\$300.00	\$1,200.00	\$300.00	\$1,200.00	\$600.00	\$2,400.00	\$39.00	\$156.00
28	Detectable Warning Surface	8	S.Y.	\$400.00	\$3,200.00	\$400.00	\$3,200.00	\$1,500.00	\$12,000.00	\$1,000.00	\$8,000.00
29	Concrete Vertical Curb	715	L.F.	\$28.00	\$20,020.00	\$30.00	\$21,450.00	\$40.00	\$28,600.00	\$30.00	\$21,450.00
30	Concrete Gutter, 8" Thick	715	L.F.	\$40.00	\$28,600.00	\$40.00	\$28,600.00	\$38.00	\$27,170.00	\$10.00	\$7,150.00
31	Concrete Header Curb	110	L.F.	\$28.00	\$3,080.00	\$30.00	\$3,300.00	\$38.00	\$4,180.00	\$15.00	\$1,650.00
32	Traffic Markings Lines, 8"	90	L.F.	\$8.00	\$720.00	\$6.00	\$540.00	\$10.00	\$900.00	\$5.75	\$517.50
33	Traffic Markings, Lines, 24"	50	L.F.	\$24.00	\$1,200.00	\$15.00	\$750.00	\$30.00	\$1,500.00	\$17.00	\$850.00
34	8" - C900 Polyvinyl Chloride Water Main	130	L.F.	\$125.00	\$16,250.00	\$120.00	\$15,600.00	\$165.00	\$21,450.00	\$100.00	\$13,000.00
35	14" - C900 Polyvinyl Chloride Water Main	450	L.F.	\$235.00	\$105,750.00	\$200.00	\$90,000.00	\$300.00	\$135,000.00	\$110.00	\$49,500.00
36	8" - 11 1/4º Ductile Iron Mechanical Joint Fitting (If & Where Directed)	4	UN	\$400.00	\$1,600.00	\$400.00	\$1,600.00	\$100.00	\$400.00	\$300.00	\$1,200.00
37	8" - 22 1/2" Ductile Iron Mechanical Joint Fitting (If & Where Directed)	4	UN	\$400.00	\$1,600.00	\$400.00	\$1,600.00	\$100.00	\$400.00	\$300.00	\$1,200.00
38	8" - 45° Ductile Iron Mechanical Joint Fitting	10	UN	\$400.00	\$4,000.00	\$400.00	\$4,000.00	\$100.00	\$1,000.00	\$300.00	\$3,000.00
39	14" - 11 1/4º Ductile Iron Mechanical Joint Fitting (If & Where Directed)	4	UN	\$1,500.00	\$6,000.00	\$1,500.00	\$6,000.00	\$100.00	\$400.00	\$400.00	\$1,600.00



PROJECT NAME:

FY 2022 State Aid - Reconstruction of Winchester Avenue

PROJECT NUMBER:

0116U175
CLIENT:
Margate City
DATE:
August 24, 2023

ENGINEER'S ESTIMATE	South State, Inc.	Asphalt Paving Systems, Inc.	Think Pavers Hardscaping, LLC
	P.O. Box 68	P.O. Box 530	125 Kings Highway
	Bridgeton, NJ 08302	Hammonton, NJ 08037	Mt. Royal, NJ 08061
	856-451-5300	609-561-4161	856-832-4680
	((BB, CS, SS, etc.))	((BB, CS, SS, etc.))	((BB, CS, SS, etc.))

ALTERNATE BID

ALI	LIERNATE BID										
		QUANTITY		UNIT		UNIT		UNIT		UNIT	
#	DESCRIPTION	& t	JNITS	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL	PRICE	TOTAL
40	14" - 22 1/2" Ductile Iron Mechanical Joint Fitting (If & Where Directed)	4	UN	\$1,500.00	\$6,000.00	\$1,500.00	\$6,000.00	\$100.00	\$400.00	\$400.00	\$1,600.00
41	14" - 45º Ductile Iron Mechanical Joint Fitting	9	UN	\$1,500.00	\$13,500.00	\$1,500.00	\$13,500.00	\$100.00	\$900.00	\$400.00	\$3,600.00
42	8" Gate Valve and Valve Box	5	UN	\$2,700.00	\$13,500.00	\$2,600.00	\$13,000.00	\$5,500.00	\$27,500.00	\$1,000.00	\$5,000.00
43	14" Gate Valve and Valve Box	2	UN	\$13,200.00	\$26,400.00	\$12,000.00	\$24,000.00	\$20,000.00	\$40,000.00	\$0.01	\$0.02
44	8" X 14" Ductile Iron Mechnaical Joint Cross	2	UN	\$2,300.00	\$4,600.00	\$2,300.00	\$4,600.00	\$5,000.00	\$10,000.00	\$200.00	\$400.00
45	4" Line Stop	1	UN	\$1,000.00	\$1,000.00	\$100.00	\$100.00	\$100.00	\$100.00	\$0.01	\$0.01
46	6" Line Stop	1	UN	\$4,800.00	\$4,800.00	\$100.00	\$100.00	\$100.00	\$100.00	\$0.01	\$0.01
47	8" Line Stop	1	UN	\$9,800.00	\$9,800.00	\$100.00	\$100.00	\$100.00	\$100.00	\$0.01	\$0.01
48	14" Line Stop	1	UN	\$14,000.00	\$14,000:00	\$100.00	\$100.00	\$100.00	\$100.00	\$0.01	\$0.01
49	14" Insertion Valve	2	UN	\$3,700.00	\$7,400.00	\$100.00	\$200.00	\$20,000.00	\$40,000.00	\$40,000.00	\$80,000.00
50	Connect to Existing Water Main	4	UN	\$8,000.00	\$32,000.00	\$7,000.00	\$28,000.00	\$7,500.00	\$30,000.00	\$15,000.00	\$60,000.00
51	As-Built Plans and GIS Data	1	L.S.	\$700.00	\$700.00	\$1,000.00	\$1,000.00	\$571.20	\$571.20	\$10,000.00	\$10,000.00
52	Milling 2" Depth	160	S.Y.	\$15.00	\$2,400.00	\$16.00	\$2,560.00	\$40.00	\$6,400.00	\$10.00	\$1,600.00
53	Traffic Markings Symbols	18	S.F.	\$24.00	\$432.00	\$25.00	\$450.00	\$40.00	\$720.00	\$30.00	\$540.00
54	12" Reinforced Concrete Pipe	55	L.F.	\$150.00	\$8,250.00	\$180.00	\$9,900.00	\$200.00	\$11,000.00	\$200.00	\$11,000.00
55	15" Reinforced Concrete Pipe	45	L.F.	\$185.00	\$8,325.00	\$220.00	\$9,900.00	\$225.00	\$10,125.00	\$210.00	\$9,450.00
56	24" Reinforced Concrete Pipe	175	L.F.	\$250.00	\$43,750.00	\$210.00	\$36,750.00	\$295.00	\$51,625.00	\$220.00	\$38,500.00
ALTE	LTERNATE BID TOTAL, EXTENSION OF UNIT PRICES				\$770,267.00	a	\$731,608.80		\$783,600.00		\$834,829.00
BASE	ASE BID TOTAL; AMOUNT WRITTEN;						\$731,608.80		\$783,600.00		\$834,829.00
	No. 2 PZ										

Edward D. D. wis, New Jersey License